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GOMORY-HU ALGORITHM
An undirected graph G and a capacity function u E(G) = Ry.

Input:
Output: A Gomory-Hu tree T for (G, u).
@ SetV(T):= {(V(G)}and E(T) := 0.

Choose some X € V(T) with |X| > 2. If no such X exists then go to ©®.

@
3 Chooses,t € X withs #* 1.
_ For each connected component C of T — X do: Let S¢ := UYGV(C) Y.
Let (G, u') arise from (G, u) by contracting Sc to a single vertex v for
each connected component C of T — X.
(SoV(G)=XU{vc:Cisa connected component of T — X }.)
@  Find a minimum s-£-cut 8(A) in (G',w). Let B' := V(G \ A
Setd:=| |J Sc|u@nX)andB:= U Sc|u@nx).
vo€AN\X vc eBN\X
® Set V(T := (V(T)\ (XHu{dnX,Bn X}
For each edge ¢ = {X, Y} € E(T) incident to the vertex X deo:
IfY C Athensete :={4NX,Y} elseset e ={BNX, Y}
Set E(T) := (E(T) \ {e}) U {e'} and w(e’) := w(e).
Set E(T) := E(T)U{{ANX,BN X33
Setw({ANX,BNX}) = ' (8a(47)).
Goto Q.
®  Replace all {x} € V(T) by x and all {{x},{y}} € E(T) by {x,y}. Stop.
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